

$$(1) 2\frac{1}{8} \times 1\frac{4}{5} =$$

$$(5) 2\frac{2}{5} \times 3\frac{1}{8} =$$

$$(2) 2\frac{1}{4} \times 2\frac{5}{6} =$$

$$(6) 3\frac{1}{2} \times 1\frac{5}{6} =$$

$$(3) 1\frac{8}{9} \times 1\frac{1}{2} =$$

$$(7) 1\frac{5}{9} \times 3\frac{5}{8} =$$

$$(4) 3\frac{5}{8} \times 1\frac{5}{7} =$$

$$(8) 1\frac{5}{8} \times 3\frac{3}{7} =$$

$$\begin{aligned}
 (1) \quad 2\frac{1}{8} \times 1\frac{4}{5} &= \frac{17}{8} \times \frac{9}{5} \\
 &= \frac{153}{40} \\
 &= 3\frac{33}{40}
 \end{aligned}$$

$$\begin{aligned}
 (5) \quad 2\frac{2}{5} \times 3\frac{1}{8} &= \frac{12}{5} \times \frac{25}{8} \\
 &= \frac{15}{2} \\
 &= 7\frac{1}{2}
 \end{aligned}$$

$$\begin{aligned}
 (2) \quad 2\frac{1}{4} \times 2\frac{5}{6} &= \frac{9}{4} \times \frac{17}{6} \\
 &= \frac{51}{8} \\
 &= 6\frac{3}{8}
 \end{aligned}$$

$$\begin{aligned}
 (6) \quad 3\frac{1}{2} \times 1\frac{5}{6} &= \frac{7}{2} \times \frac{11}{6} \\
 &= \frac{77}{12} \\
 &= 6\frac{5}{12}
 \end{aligned}$$

$$\begin{aligned}
 (3) \quad 1\frac{8}{9} \times 1\frac{1}{2} &= \frac{17}{9} \times \frac{3}{2} \\
 &= \frac{17}{6} \\
 &= 2\frac{5}{6}
 \end{aligned}$$

$$\begin{aligned}
 (7) \quad 1\frac{5}{9} \times 3\frac{5}{8} &= \frac{14}{9} \times \frac{29}{8} \\
 &= \frac{203}{36} \\
 &= 5\frac{23}{36}
 \end{aligned}$$

$$\begin{aligned}
 (4) \quad 3\frac{5}{8} \times 1\frac{5}{7} &= \frac{29}{8} \times \frac{12}{7} \\
 &= \frac{87}{14} \\
 &= 6\frac{3}{14}
 \end{aligned}$$

$$\begin{aligned}
 (8) \quad 1\frac{5}{8} \times 3\frac{3}{7} &= \frac{13}{8} \times \frac{24}{7} \\
 &= \frac{39}{7} \\
 &= 5\frac{4}{7}
 \end{aligned}$$